Total Marks: 1

Space operator in SNOBOL is used for
page 39 handouts

Select the correct option

CORRECT ANSWER SOLVED BY HADI
o Concatenation CELL NO : +923228043306 %
EMAIL : usmanraj20@ gmail com

O Both Concatenation and Pattern matching Fi

O Imediate Assignment .

EN

S Po— MADE BY HADI

Total Marks: 1
Variables in Prolog that any vahie associated with it cannot change in the function.
Ed
Select the correct option

CORRECT ANSWER SOLVED BY HADI
O Are loosely typed CELL NO : 923228043306 P

EMAIL : usmanraj20(@gmail.com
O Are strongly typed y
O Have no concern with type binding 4
O | Noneoftegvn MADE BY HADI -

Total Marks: 1
‘With programming in we state what and not how.
4
Select the correct option
O Fortran P
O Algol p
O Cz
%

CORRECT ANSWER SOLVED BY HADI
0 [ (i S MADE BY HADI

EMAIL : usmanraj20(@ gmail.com .




Question # 1 of 50 ( Start time: 03:14:14 PM. 28 November 2017 ) Total Marks: 1

In Boolean expression is convertible into integer type
but check please
90% sure

Select the correct option

O |c# “

O |c++ 4

CORRECT ANSWIR SOLVED BY HADI
Q |Jvava CILL NO : +923228043306 P
IMAIL : usmanraj20@email.com ’

O | ada MADE BY HADI

5 of 50 Total Marks: 1

EN

A/An is a default mechanism for specifying types of variables.

book page 161

Select the correct option

O | Explicit declaration P

CORRECT ANSWER SOLVED BY HADI

Q) ||Tmplicit declaration CELL NO : 923226043306 P
EMAIL : usmanraj20@gmail.com v

O ||Run time declaration P
O Mone of the given MADE BY HADI -
6 of 50 Total Marks: 1

All objects in Java are

Select the correct option

CORRECT ANSWER SOLVED BY HADI

© | Dynamic storage binding CILL NO : -923228043306 .
IMALL : usmanraj20@gmail.com

O Stack dynamic storage binding .

O | static storage binding #

O | Exptiit sy dymamic MADE BY HADI

b




Total Marks: 1

Dangling pointer errors 1n Java reduce the language

Select the correct option

CORRECT ANSWER SOLVED BY HADI

O | Efficiency CELL NO : 923228043306 P
EMAL : usmanraj20@gmail.com 4

O Safety P

QO |ERobustness .,

EN

O |secuiy MADE BY HADI

Total Marks: 1
Tag1s present n discriminated union type
i
Select the correct option
O | cio++ .,
CORRECT ANSWER SOLVED BY HADI

(o) CELL NO : +923228043306

Ada FAMALL : usmanraj20@email.com P

O Java P

O | MADE BY HADI

b

Total Marks: 1
In Java the arithmetic expression evaluation order is always from
i
Select the correct option
O |RighttoLeft P
O | centre to right P

CORRECT ANSWER SOLVED BY HADI
O | Left toright CILL NO : -923228043306 P
EMATL : usmanraj}0@gmail.com v

O |cenetoren MADE BY HADI

b




Total Marks: 1

loop 1s different from loop as the control expression can also be boolean
£
Select the correct option
O |c# c++ P
O C++, Java @ 4
O |¢ o+ p
O |ewc MADE BY HADI -

Total Marks: 1

has a pre-test version, but no post-test version of logically controlled loop

coca cola tun

Select the correct option

O |Tava A

O | ‘

Q | c++ P

CORRECT ANSWER SOLVED BY HADI
O ||ada CELL NO : +923228043306
EAMAIL : usmanraj20@email.com

Total Marks: 1

b

cannot pass array in _ by value as ithas no fix size. But it has fixed size in structure

Select the correct option

OC# r

O Java y

O |c++ P

CORRECT ANSWER SOLVED BY HADI
QO |c CELL NO : +923228043306
EMALL : usmanraj20@email.com

b




Total Marks: 1

In C progranmuming language array 1s passed by,

Select the correct option

O Value

QO | Reference

CORRECT ANSWER SOLVED BY HADI
CELL NO : ~923228043306
EMAIL : nsmanraj20@gmail.com

O Pointer

Q) | Accessmethod

EN

MADE BY HADI

Total Marks: 1
Java supports ___programming paradigm
4
Select the correct option
O | Functional P
O Imperative “
CORRECT ANSWER SOLVED BY HADI
; CELL NO : +923228043306
O || Object Oriented EVAL : wsmmanraj20@gmail com P
O |Losic MADE BY HADI -
Total Marks: 1
In ENIAC physical motion was eventually replaced by signals
4
Select the correct option

O |Logical

QO ||Analog

O |[Electrical

book

CORRECT ANSWIR SOLVED BY HADI
CELL NO : -923228043306
IMAIL : usmanraj20@zmail.com

O Digital

MADE BY HADI

b




Total Marks: 1

A predicate may have or more arguments

handout page 82

Select the correct option

O | Three -

CORRECT ANSWER SOLVED BY HADI
O Zero CELL NO : =923228043306
EMAIL : usmanraj20@email.com

EN

O |r= MADE BY HADI

Total Marks: 1
generates readable code which 1s easy to maintain
page 91
i
Select the correct option
O | Clauses P

CORRECT ANSWER SOLVED BY HADI

i CELL NO : -923225043306
O Backtracking EMAIL : usmanraj20@zmail.com #

O Inference mechanism z
O | ruas MADE BY HADI -
Total Marks: 1
C# was the first language by Microsoft.
doubt
4
Select the correct option
O ||1id stream .

CORRECT ANSWER SOLVED BY HADI
CELL NO : =923228043306

O Main stream EMAIL : usmanraj20@gmail.com #

O ||=ub stream P

O |Lasasaam MADE BY HADI

b




Total Marks: 1

Which of following statements correctly declares a two-dimensional array in C#?

it [J[1A; // A is a two-dimensional array page 95 .
Select the correct option
CORRECT ANSWER SOLVED BY HADI
O | intl]f] myarray, FVALL | asmanea 208 smail com g
O Systern. Array[2] myArray, P
O nt[2] myArray, P
O |t myaswey, MADE BY HADI -
Total Marks: 1
In C#, if you don't use new keyword, you must all the values in the struct by hand

before you use it.

Select the correct option
O | Define P
O Declare y
O Create z
CORRECT ANSWIR SOLVED BY HADL
O i S MADE BY HADI
EMAIL : usmanraj20@gmail com
Total Marks: 1
is the correct size of a Decimal datatype
float 4 byte
double 8 byte
decimal 16 byte p
Select the correct option
QO | & Bytes P
O 4 Bytes P
O |10 BEytes .
O |r6mytes < MADE BY HADI -




Total Marks: 1

In Ada all pointers are initialized to

page 170

Select the correct option

O |cne P

Q |value .,

CORRECT ANSWIR SOLVED BY HADI
QO | Mull CELL NO : 923228043306 P
IMAIL : usmanraj20@gmail.com

O |z MADE BY HADI

EN

Total Marks: 1
Which staternent best suited for C programming language?
page 30
4
Select the correct option
O String manipulation language P
O First language to provide exception handling P
CORRECT ANSWER SOLVED BY HADL
O With powerful set of operators but poor type checking CELL NO : ~923225043306 P
EMAIL : usmanraj20@gmail.com
(O || Introduce the notion of class MADE B y HADI -

Total Marks: 1
Variable name in SNOBOL may not be longer than
BOOK page 33
i
Select the correct option
O ||150 characters .
O 250 characters z
O 500 characters 2
CORRECT ANSWER SOLVED BY HADI
O 120 characters CELL NO : +923228043306 MAD E B y H ADI 4
EMAIL : usmanraj20@gmail.com ’




Total Marks: 1

Space 15 used as an operator in

Select the correct option
O | apa P
Q |aLogoL .,
CORRECT ANSWER SOLVED BY HADI
CELL NO : ~923228043306
O SHOBOL IMAIL : usmanraj20@gmail.com Ed
O | rozos MADE BY HADI -
Total Marks: 1
(Dot operator isa in SBNOBOL
check
4
Select the correct option
O |Reference pointer A

CORRECT ANSWER SOLVED BY HADI
O Unary operator CELL NO : 923228043306 3
EMAILL : usmanraj20Zgmsil.com

O Class pointer z
O | sy syt MADE BY HADI -
Total Marks: 1
AfAn is a sequence of ordered enumeration literals in Ada
4
Select the correct option
O Struct type P

CORRECT ANSWER SOLVED BY HADI

O Enumeration type CELL NO : ~923128043306 P
EMAIL : usmanraj20@gmail com .

O | Enum data type P

O | Floatdut e MADE BY HADI

b




Total Marks: 1

There is no automatic typ e conversion in

Select the correct option

O|c y

O Both Java and C++ P

CORRECT ANSWIR SOLVED BY HADI
O Java CILL NO : +923228043306
EMAIL : usmanraj20@gmail.com

O |or MADE BY HADI

Total Marks: 1

EN

is/are a multi paradigm language/s.

check

Select the correct option

QO |c++ .,

Q |Tava .

CORRECT ANSWER SOLVED BY HADI

CELL NO : 923228043306
Q |[c++ and JAVA EMAL : usmanra20@gmail.com #
O |cumscn MADE BY HADI -
Total Marks: 1
Automatic garbage collection in Java prevents .
4
Select the correct option
O | Multithreading i
O || Exception handling ~
O Indirect referencing #
CORRECT ANSWER SOLVED BY HADI
O |panghing posters SR MADE BY HADI -
EMAIL : usmanraj20@gmail.com




Total Marks: 1

String identifier <<<is also called in PHP.

hanouts page 131

Select the correct option

O Sidentifier

QO | atringkey P

QO | adec .

CORRECT ANSWER SOLVED BY HADI
O | S B MADE BY HADI
EMAIL : usmanraj20@gmail.com

EN

Total Marks: 1
AN array in PHP is an ordered
page 132
4

Select the correct option

CORRECT ANSWER SOLVED BY HADI

O |zp CELL NO : <823228043306
EMAIL : usmanraj20@gmail.com #

O Tree z

O Execution type z
o — MADE BY HADI
Total Marks: 1
In _ the Break statement may have the optional parameter or argument.
Z
Select the correct option
Q |cic++ P

O Java z

O |rmp .

CORRECT ANSWER SOLVED BY HADI
CILL NO : <923228043306
O | seript O MADE BY HADI

b




Total Marks: 1

operator is used to retum a reference from a function in PHP.

Select the correct option

O |&& %

O |s P

@ & right by hadi .,

O oo MADE BY HADI

EN

Total Marks: 1
Jio ravas cript operator is used for concatenation.
Z
Select the correct option
O Dot P
CORRECT ANSWER SOLVED BY HADI
CELL NO : +923228043306
O Plus (+) EMAIL : usmanraj20@gmail.com P

b

0| MADE BY HADI

Total Marks: 1

The resultant value of varable ‘x’ in JTavaScript statement varx =57 -“2" ; will be___

Select the correct option

Q |52 %

Q |52 “

O gz “

CORRECT ANSWER SOLVED BY HADI
Q|3 ¢ CELL NO : 923228043306
FMAL : usmanraj20@gmail.com

b




Total Marks: 1

The model in JTavaSeript provides access to the contents of the browser window.
4
Select the correct option
CORRECT ANSWER SOLVED BY HADI
O |pom CELL NO ; +923228043306
EMAL : usmanraj20@gmail.com 4
QO |Bom .,
O |rom %
O |cou MADE BY HADI -
Total Marks: 1
In JavaS cript navigator is a object.
Z
Select the correct option
O |Built-in P
CORRECT ANSWER SOLVED BY HADI
CELL NO : +923228043306
O Browser EMALL : usmanraj?0@gmail.com “
O Document )
O [oee s MADE BY HADI -




Total Marks: 1

You can return structures but not from a function in € progranming language.
page 19
4
Select the correct option
O Numbers P
O Pointers 4

CORRECT ANSWER SOLVED BY HADI
O AITEyS CELL NO : +923228043306 4
EMAIL : usmanraj20@gmailcom

O [Reternces MADE BY HADI

EN

Total Marks: 1
3ub ranges of integer types are not compatible with
handouts page
163
#
Select the correct option
O | float types P
QO | chartype .,
O double types P
CORRECT ANSWER SOLVED BY HADI
CILL NO : -923228043306
O |t e MADE BY HADI






